I, Steven Perez, PE, hereby certify these bid tabulations to be true and correct.

I, Steven Perez, PE, hereby certify these bid tabulations to be true and correct

CALENDAR DAYS 65/85

 BIDDER'S NAME
 TOTAL AMOUNT BID

 1) PRINCIPAL SERVICES, LTD.
 \$1,622,552.70

 2) MTEX CONSTRUCTION, LLC
 \$1,691,403.40

 3) R CONSTRUCTION CIVIL, LLC
 \$1,724,627.90

 4) CE BARKER LTD.
 \$1,987,398.89

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KRESSTON SECTION 3 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS JULY 2, 2024 LJA ENGINEERING, INC. A. HOLLIDAY JULY 2, 2024 JULY 2, 2024 3096-0103 (9.2)



07/02/2024

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE:				& PAVING AND APPURT	ENANCES TO SERVE K COUNTIES MUNICIPAL	EWER, AND DRAINAGE F/ (RESSTON SECTION 3 . UTILITY DISTRICT NO. 14			
LJA JOB NO.				3096-0103 (9.2)					
				1) PRINCIPAL SE	RVICES, LTD.	2) MTEX CONST	RUCTION, LLC	3) R CONSTRUCT	FION CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DIVISION I - DRAINAGE FACILITIES	ITEMS								
1 24" RCP STORM SEWER PIPE BACKFILL, ALL DEPTHS, COM	, ASTM C-76, CLASS III, INCLUDES BEDDING AND PLETE IN PLACE	LF	1785	\$96.00	\$171,360.00	\$85.40	\$152,439.00	\$90.00	\$160,650.00
2 30" RCP STORM SEWER PIPE BACKFILL, ALL DEPTHS, COM	, ASTM C-76, CLASS III, INCLUDES BEDDING AND PLETE IN PLACE	LF	160	\$121.00	\$19,360.00	\$106.30	\$17,008.00	\$120.00	\$19,200.00
	TE BOX CULVERT, ASTM C-1433, INCLUDES DEPTHS, COMPLETE IN PLACE	LF	18	\$489.00	\$8,802.00	\$405.00	\$7,290.00	\$510.00	\$9,180.00
	TE BOX CULVERT, ASTM C-1433, INCLUDES DEPTHS, COMPLETE IN PLACE	LF	91	\$837.00	\$76,167.00	\$710.00	\$64,610.00	\$760.00	\$69,160.00
5 TRENCH SAFETY SYSTEM, AL	L DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	2034	\$0.10	\$203.40	\$1.00	\$2,034.00	\$0.10	\$203.40
	REVENTION PLAN COMPLIANCE, INCLUDES .S AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE N PLACE	LS	1	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$1,260.00	\$1,260.00
	CED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE ROTECTION BARRIER FOR STAGE I INLET, ALL E	EA	9	\$1,467.00	\$13,203.00	\$1,450.00	\$13,050.00	\$1,720.00	\$15,480.00
8 STAGE II - MODIFIED REINFOR INSIDE OPENING), ALL DEPTH	RCED CONCRETE TYPE "C" INLET, (5' MINIMUM IS, COMPLETE IN PLACE	EA	9	\$2,162.00	\$19,458.00	\$2,045.00	\$18,405.00	\$3,000.00	\$27,000.00
	CED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INLET PROTECTION BARRIER FOR STAGE I INLET, LACE	EA	2	\$1,527.00	\$3,054.00	\$1,450.00	\$2,900.00	\$1,720.00	\$3,440.00
10 STAGE II - MODIFIED REINFOR INSIDE OPENING), ALL DEPTH	RCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM IS, COMPLETE IN PLACE	EA	2	<b>\$2,</b> 622.00	\$5,244.00	\$2,700.00	\$5,400.00	\$3,350.00	\$6,700.00
	N NO. 1 FOR 30" RCP STORM SEWER, INCLUDES 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE	EA	1	\$2,267.00	\$2,267.00	\$4,525.00	\$4,525.00	\$6,350.00	\$6,350.00
	PE "C" MANHOLE FOR 42" STORM SEWER AND MENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	16	\$3,037.00	\$48,592.00	\$2,850.00	\$45,600.00	\$4,450.00	\$71,200.00
STRIPPING, STOCKPILING STI	DF EXTREME EVENT OVERFLOW SWALE, INCLUDES RIPPINGS, PLACEMENT AND COMPACTION TO 95% IY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION N PLACE	LF	168	\$10.00	\$1,680.00	\$11.00	\$1,848.00	\$5.00	\$840.00
BOTTOM, (ALL DEPTHS), INCL STOCKPILING STRIPPINGS, PI	DF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - 1' UDES HAULING OF SPOIL MATERIAL, STRIPPING, LACEMENT AND COMPACTION TO 95% STANDARD XIMUM 8" LIFTS, AND RE-APPLICATION OF LACE	LF	330	\$3.00	\$990.00	\$11.00	\$3,630.00	\$5.00	\$1,650.00
BOTTOM,(ALL DEPTHS), INCL STOCKPILING STRIPPINGS, P	DF DRAINAGE SWALE, 5:1 MINIMUM SIDE SLOPE - 3' UDES HAULING OF SPOIL MATERIAL, STRIPPING, LACEMENT AND COMPACTION TO 95% STANDARD XIMUM 8" LIFTS, AND RE-APPLICATION OF LACE	LF	92	\$3.00	\$276.00	\$11.00	\$1,012.00	\$5.00	\$460.00
SEWER WITH ONE REINFORC	DRM SEWER JUNCTION BOX FOR 7' X 4' RCB STORM SED CONCRETE TYPE "C" MANHOLE TOPS. NGINEERED DRAWINGS. INCLUDES ADJUSTMENTS, LACE	EA	1	\$12,314.00	\$12,314.00	\$28,360.00	\$28,360.00	\$13,400.00	\$13,400.00
17 7" CONCRETE SEAL SLAB FOR	R BOX CULVERT, COMPLETE IN PLACE	LF	90	\$100.00	\$9,000.00	\$10.00	\$900.00	\$125.00	\$11,250.00

BID TABULATION FOR:	& N	CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KRESSTON SECTION 3 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS									
BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.		JI Lı A JI	ULY 2, 2024 JA ENGINEERING, INC. HOLLIDAY ULY 2, 2024 096-0103 (9.2)	, 12,0,0							
			1) PRINCIPAL SEI	RVICES, LTD.	2) MTEX CONSTR	RUCTION, LLC	3) R CONSTRUCT	ION CIVIL, LLC			
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST			
18 ARMOR CURB INLET, COMPLETE IN PLACE	EA	1	\$3,607.00	\$3,607.00	\$5,650.00	\$5,650.00	\$9,200.00	\$9,200.00			
19 REINFORCED 24" CONCRETE COLLAR, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$1,100.00	\$1,100.00	\$1,950.00	\$1,950.00			
20 WING WALLS FOR 4' X 4' BOX CULVERT PER TXDOT DETAILS, INCLUDES HEADWALL AND APRON, COMPLETE IN PLACE	EA	1	\$11,211.00	\$11,211.00	\$39,300.00	\$39,300.00	\$8,550.00	\$8,550.00			
21 WING WALLS FOR 7' X 4' BOX CULVERT PER TXDOT DETAILS, INCLUDES HEADWALL AND APRON, COMPLETE IN PLACE	EA	1	\$12,806.00	\$12,806.00	\$44,600.00	\$44,600.00	\$8,850.00	\$8,850.00			
22 EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - 10 BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	'LF	777	\$3.00	\$2,331.00	\$11.00	\$8,547.00	\$4.00	\$3,108.00			
23 REMOVE AND OFFSITE DISPOSAL OF EXISTING STORM SEWER OUTFALL AND CONNECT PROPOSED 24" RCP TO EXISTING 24" RCP, INCLUDES ALL NECESSARY CONNECTIONS, INCLUDES SLOPE PAVEMENT, SLOPED END TREATMENT, AND ALL APPURTENANCES, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$275.00	\$275.00	\$650.00	\$650.00			
DIVISION I - DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$423,925.40		\$470,983.00		\$449,731.40			
DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS											
1 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2491	<b>\$</b> 40.0 <b>0</b>	\$99,640.00	\$37.00	\$92,167.00	\$37.00	\$92,167.00			
2 6" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	163	\$31.00	\$5,053.00	\$30.00	\$4,890.00	\$34.00	\$5,542.00			
3 4" HDPE WATER LINE, C-906, DR 9, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	45	\$21.00	\$945.00	\$56.80	\$2,556.00	\$29.00	\$1,305.00			
4 TRENCH SAFETY SYSTEM, FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3952	\$0.10	\$395.20	\$0.10	\$395.20	\$0.10	\$395.20			
5 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	7	\$2,096.00	\$14,672.00	\$2,245.00	\$15,715.00	\$2,100.00	\$14,700.00			
6 6" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$1,411.00	\$1,411.00	\$1,675.00	\$1,675.00	\$1,500.00	\$1,500.00			
7 FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$6,712.00	\$33,560.00	\$6,050.00	\$30,250.00	\$7,550.00	\$37,750.00			
8 WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$668.00	\$668.00	\$650.00	\$650.00	\$380.00	\$380.00			
9 SHORT SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	14	\$893.00	\$12,502.00	\$650.00	\$9,100.00	\$765.00	\$10,710.00			
10 LONG SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	21	\$1,583.00	\$33,243.00	\$1,175.00	\$24,675.00	\$1,550.00	\$32,550.00			
11 PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, ALL SIZES, COMPLETE IN PLACE	EA	2	\$745.00	\$1,490.00	\$820.00	\$1,640.00	\$600.00	\$1,200.00			
DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS SUBTOTAL:				\$203,579.20		\$183,713.20		\$198,199.20			

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.			& PAVING AND APPURT	ENANCES TO SERVE K COUNTIES MUNICIPAL	EWER, AND DRAINAGE FA RESSTON SECTION 3 . UTILITY DISTRICT NO. 14				
			1) PRINCIPAL SE	RVICES, LTD.	2) MTEX CONSTI	RUCTION, LLC	3) R CONSTRUCT	ION CIVIL, LLC	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
DIVISION III - SANITARY SEWER ITEMS									
1 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' – 8' CUT, INCLUDES BEDDING AN BACKFILL, COMPLETE IN PLACE	ND LF	133	\$48.00	\$6,384.00	\$41.00	<b>\$5</b> ,453.00	\$43.00	\$5,719.00	
2 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' – 12' CUT, INCLUDES BEDDING A BACKFILL, COMPLETE IN PLACE	ND LF	1681	\$50.00	\$84,050.00	\$42.00	\$70,602.00	\$45.00	\$75,645.00	
3 STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, 0' – 8' DEPTH INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	, EA	17	\$3,219.00	\$54,723.00	\$2,845.00	\$48,365.00	\$4,850.00	\$82,450.00	
4 EXTRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE I PLACE	N VF	27	\$201.00	\$5,427.00	\$150.00	\$4,050.00	\$295.00	\$7,965.00	
5 STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, SEALED AND VENTED (0' – 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	2	\$4,881.00	\$9,762.00	\$5,740.00	\$11,480.00	\$9,550.00	\$19,100.00	
6 TRENCH SAFETY SYSTEM, FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	3153	\$0.10	\$315.30	\$1.00	\$3,153.00	\$0.10	\$315.30	
7 VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY COMPLETE IN PLACE	Y, LF	1000	\$2.00	\$2,000.00	\$0.01	\$10.00	\$2.00	\$2,000.00	
8 SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SI 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	DR EA	22	\$1,147.00	\$25,234.00	\$940.00	\$20,680.00	\$1,000.00	\$22,000.00	
9 LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDF 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	r lf	789	\$36.00	\$28,404.00	\$35.00	\$27,615.00	\$40.00	\$31,560.00	
10 STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$811.00	\$811.00	\$800.00	\$800.00	\$500.00	\$500.00	
11 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' - 8' CUT, INCLUDES BEDDING ANI BACKFILL, COMPLETE IN PLACE	D LF	162	\$39.00	\$6,318.00	\$41.00	\$6,642.00	\$42.00	\$6,804.00	
12 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AN BACKFILL, COMPLETE IN PLACE	ND LF	371	\$43.00	\$15,953.00	\$42.00	\$15,582.00	\$43.00	\$15,953.00	
13 REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, AND CONSTRUCT PROPOSED SANITARY SEWER MANHOLE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$24.00	\$24.00	\$220.00	\$220.00	\$6,750.00	\$6,750.00	
DIVISION III - SANITARY SEWER ITEMS SUBTOTAL:				\$239,405.30		\$214,652.00		\$276,761.30	
DIVISION IV - MISCELLANEOUS ITEMS						-			
1 EXTRA REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$2.00	\$200.00	
2 EXTRA CLEARING AND GRUBBING. COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	\$4.000.00	\$4,000.00	\$4,000.00	\$4,000.00	
<ul> <li>AAUL UTILITY SPOILS TO DESIGNATED ONSITE DISPOSAL SITE, USING OFF RC TRUCKS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8° LIFTS AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE</li> </ul>	DAD LS	1	\$1,000.00	\$1,000.00	\$17,600.00	\$17,600.00	\$15,400.00	\$15,400.00	
4 INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE TH DEVELOPMENT, COMPLETE IN PLACE	HIS AC	1	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	
5 EXTRA 18" THICK CONCRETE RIP RAP, PER DETAIL, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	82	\$94.00	\$7,708.00	\$150.00	\$12,300.00	\$130.00	\$10,660.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE:			& PAVING AND APPURTE	NANCES TO SERVE KR	WER, AND DRAINAGE FAC IESSTON SECTION 3 JTILITY DISTRICT NO. 146E			
LJA JOB NO.			3096-0103 (9.2)					
			1) PRINCIPAL SER	RVICES, LTD.	2) MTEX CONSTRU	ICTION, LLC	3) R CONSTRUCT	ON CIVIL, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
6 EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	S CY	10	\$15.00	\$150.00	\$15.00	\$150.00	\$50.00	\$500.00
7 ADJUST MANHOLE RIM (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	3	\$200.00	\$600.00	\$250.00	\$750.00	\$100.00	\$300.00
8 EXTRA ORANGE CONSTRUCTION FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
9 DEWATERING, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$40.00	\$40,000.00	\$40.00	\$40,000.00	\$40.00	\$40,000.00
10 WET SAND CONSTRUCTION AS PER DETAILS AND RECOMMENDED BY GEOTECHNICAL ENGINEER, ALL LINE SIZES AND DEPTH, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$10.00	\$10,000.00	\$10.00	\$10,000.00	\$10.00	\$10,000.00
DIVISION IV - MISCELLANEOUS ITEMS SUBTOTAL:				\$69,658.00		\$91,000.00		\$87,160.00
DIVISION V - PAVING ITEMS				\$00,000.00		¥01,000.00		\$61,100.00
1 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	6436	\$48.80	\$314,076.80	\$53.80	\$346,256.80	\$51.00	\$328,236.00
2 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	2733	\$54.00	\$147,582.00	\$59.30	\$162.066.90	\$61.00	\$166,713.00
3 6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	10594	\$4.00	\$42,376.00	\$4.10	\$43,435.40	\$4.00	\$42,376.00
4 TRU-BLN LIME/FLY ASH MIXTURE FOR 6" STABILIZED SUBGRADE PREPARATION 50 LBS/SY, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	, TON	265	\$350.00	\$92,750.00	\$255.30	\$67,654.50	\$275.00	\$72,875.00
5 ROADWAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN PROJECT LIMITS, INCLUDING STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	12174	\$5.00	\$60,870.00	\$6.30	\$76,696.20	\$4.00	\$48,696.00
6 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$26,000.00	\$26,000.00
7 CONTRACTOR TO PROVIDE MONTGOMERY COUNTY PAVING BOND IN THE AMOUNT OF \$204,416.36, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$5,700.00	\$5,700.00	\$3,600.00	\$3,600.00
8 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3188	\$3.00	\$9,564.00	\$3.90	\$12,433.20	\$4.00	\$12,752.00
9 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2282	\$3.00	\$6,846.00	\$3.90	\$8,899.80	\$4.00	\$9,128.00
10 INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$300.00	\$300.00	\$500.00	\$500.00
11 REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	28	\$15.00	\$420.00	\$18.30	\$512.40	\$25.00	\$700.00
12 TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,100.00	\$1,100.00	\$1,200.00	\$1,200.00
DIVISION V - PAVING ITEMS SUBTOTAL:				\$685,984.80		\$731,055.20		\$712,776.00
BIDDING SUMMARY								
SUBTOTAL DIVISION I - DRAINAGE FACILITIES ITEMS				\$423,925.40		\$470,983.00		\$449,731.40
SUBTOTAL DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS				\$203,579.20		\$183,713.20		\$198,199.20
SUBTOTAL DIVISION III - SANITARY SEWER ITEMS				\$239,405.30		\$214,652.00		\$276,761.30
SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS				\$69,658.00		\$91,000.00		\$87,160.00
SUBTOTAL DIVISION V - PAVING ITEMS				\$685,984.80		\$731,055.20		\$712,776.00
TOTAL AMOUNT BASE BID				\$1,622,552.70		\$1,691,403.40		\$1,724,627.90

BID TABULATION FOR:		& F	INSTRUCTION OF THE V PAVING AND APPURTEN INTGOMERY-GRIMES CO	ANCES TO SERVE K
BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.		MC JUI LJ/ A. I JUI	NTGOMERY COUNTY, T LY 2, 2024 A ENGINEERING, INC. HOLLIDAY LY 2, 2024 36-0103 (9.2)	
			4) CE BARKEF	R LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
DIVISION I - DRAINAGE FACILITIES ITEMS 1 24" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1785	\$100.00	\$178,500.00
2 30" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	160	\$125.00	\$20,000.00
3 4' X 4' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	18	\$600.00	\$10,800.00
4 7' X 4' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	91	\$900.00	\$81,900.00
5 TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	2034	\$0.01	\$20.34
6 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,700.00	\$1,700.00
7 STAGE I - MODIFIED REINFORCED CONCRETE TYPE "G" INLET, (5' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	9	\$2,760.00	\$24,840.00
8 STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	9	\$1,840.00	\$16,560.00
9 STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$3,000.00	\$6,000.00
10 STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,000.00	\$4,000.00
11 OUTFALL SLOPE PROTECTION NO. 1 FOR 30" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$6,600.00	\$6,600.00
12 REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	16	\$4,300.00	\$68,800.00
13 EXCAVATION AND GRADING OF EXTREME EVENT OVERFLOW SWALE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	168	\$12.00	\$2,016.00
14 EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - 1' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	330	\$12.00	\$3,960.00
15 EXCAVATION AND GRADING OF DRAINAGE SWALE, 5:1 MINIMUM SIDE SLOPE - 3' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	92	\$12.00	\$1,104.00
16 REINFORCED CONCRETE STORM SEWER JUNCTION BOX FOR 7' X 4' RCB STORM SEWER WITH ONE REINFORCED CONCRETE TYPE "C" MANHOLE TOPS. CONTRACTOR TO PROVIDE ENGINEERED DRAWINGS. INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$10,600.00	\$10,600.00
17 7" CONCRETE SEAL SLAB FOR BOX CULVERT, COMPLETE IN PLACE	LF	90	\$310.00	\$27,900.00

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.			& PAVING AND APPURTE MONTGOMERY-GRIMES MONTGOMERY COUNTY, JULY 2, 2024 LJA ENGINEERING, INC. A. HOLLIDAY JULY 2, 2024 3096-0103 (9.2)	NANCES TO SERVE K COUNTIES MUNICIPAL TEXAS	EWER, AND DRAINAGE FACILITIES (RESSTON SECTION 3 . UTILITY DISTRICT NO. 146D
			4) CE BARKE		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
18 ARMOR CURB INLET, COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00	
19 REINFORCED 24* CONCRETE COLLAR, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$120.00	\$120.00	
20 WING WALLS FOR 4' X 4' BOX CULVERT PER TXDOT DETAILS, INCLUDES HEADWALL AND APRON, COMPLETE IN PLACE	EA	1	\$33,500.00	\$33,500.00	
21 WING WALLS FOR 7' X 4' BOX CULVERT PER TXDOT DETAILS, INCLUDES HEADWALL AND APRON, COMPLETE IN PLACE	EA	1	\$37,000.00	\$37,000.00	
22 EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - 10' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8' LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	777	\$12.00	\$9,324.00	
23 REMOVE AND OFFSITE DISPOSAL OF EXISTING STORM SEWER OUTFALL AND CONNECT PROPOSED 24" RCP TO EXISTING 24" RCP, INCLUDES ALL NECESSARY CONNECTIONS, INCLUDES SLOPE PAVEMENT, SLOPED END TREATMENT, AND ALL APPURTENANCES, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,500.00	\$3,500.00	
DIVISION I - DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$553,744.34	
DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS					
1 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2491	<b>\$</b> 40. <b>00</b>	\$99,640.00	
2 6" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	163	\$30.00	\$4,890.00	
3 4" HDPE WATER LINE, C-906, DR 9, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	45	\$30.00	\$1,350.00	
4 TRENCH SAFETY SYSTEM, FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3952	\$0.01	\$39.52	
5 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	7	\$2,000.00	\$14,000.00	
6 6" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	
7 FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$5,875.00	\$29,375.00	
8 WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$550.00	\$550.00	
9 SHORT SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	14	\$1,000.00	\$14,000.00	
10 LONG SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	21	\$1,200.00	\$25,200.00	
11 PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, ALL SIZES, COMPLETE IN PLACE	EA	2	\$900.00	\$1,800.00	
DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS SUBTOTAL:				\$192,344.52	

BID 1	ABULATION FOR:		&   M0	PAVING AND APPURTEN ONTGOMERY-GRIMES C	NANCES TO SERVE KRI COUNTIES MUNICIPAL U	VER, AND DRAINAGE FACILITIES ESSTON SECTION 3 TILITY DISTRICT NO. 146D
BID ( TABI TABI	DPENING DATE: DPENING LOCATION: JLATION BY: JLATION DATE: JOB NO.		JU LJ A. JU	DNTGOMERY COUNTY, ' JLY 2, 2024 A ENGINEERING, INC. HOLLIDAY JLY 2, 2024 196-0103 (9.2)	TEXAS	
				4) CE BARKE	R LTD.	
ITEN	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
DIVIS	SION III - SANITARY SEWER ITEMS					
1	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' – 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	133	\$75.00	\$9,975.00	
2	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' – 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1681	\$80.00	\$134,480.00	
3	STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, 0' – 8' DEPTH, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	17	\$5,000.00	\$85,000.00	
4	EXTRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	27	\$500.00	\$13,500.00	
5	STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, SEALED AND VENTED (0' – 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	2	\$6,000.00	\$12,000.00	
6	TRENCH SAFETY SYSTEM, FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	3153	\$0.01	\$31.53	
7	VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1000	\$0.01	\$10.00	
8	SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	22	\$2,200.00	\$48,400.00	
9	LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	789	\$50. <b>00</b>	\$39,450.00	
10	STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,300.00	\$1,300.00	
11	8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' - 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	162	\$75.00	\$12,150.00	
12	8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	371	\$80.00	\$29,680.00	
13	REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, AND CONSTRUCT PROPOSED SANITARY SEWER MANHOLE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	
DIVIS	SION III - SANITARY SEWER ITEMS SUBTOTAL:				\$387,476.53	
DIVIS	SION IV - MISCELLANEOUS ITEMS					
1	EXTRA REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	100	\$3.00	\$300.00	
2	EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	
3	HAUL UTILITY SPOILS TO DESIGNATED ONSITE DISPOSAL SITE, USING OFF ROAD TRUCKS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$7,000.00	\$7,000.00	
4	INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$6,000.00	\$6,000.00	
5	EXTRA 18" THICK CONCRETE RIP RAP, PER DETAIL, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	82	\$102.00	\$8,364.00	

	BID TABULATION FOR:		C	CONSTRUCTION OF THE	WATER, SANITARY SE	WER, AND DRAINAGE FACILITIES
Hand the energy of the energy	BID OPENING DATE: BID OPENING LOCATION: TABULATION DATE:		M J L A	Montgomery-grimes ( Montgomery County, ULY 2, 2024 JA Engineering, Inc. M Holliday	COUNTIES MUNICIPAL	
TETHDESCRIPTIONNINTQTYUNIT COTTTOTAL COST8STRAME CONNERD, SACKAR PER TON, UNITE USED ON YA SOLVER PER TON PER T	LJA JOB NO.					
•       9 Stock Classifier Stabilized Sum QC 20 SACKS ERE TON, ITTO BE USED ONLY AS       CY       10       \$ Stock 30         7 ADJUST MARHOLE RM (AS DIRECTED BY ENGINEER), COMPLETE N PLACE       EA       3       \$ Stock 30       \$ Stock 30         8       RATHO GANAGE CONSTRUCTION FEELER IN COMPLETE N PLACE       EA       3       \$ Stock 30       \$ Stock 30         9       RATHO GANAGE CONSTRUCTION FEELER IN COMPLETE N PLACE       EF       1000       \$ Stock 30       \$ Stock 30         9       REVERTING, COMPLETE N PLACE       IF       1000       \$ Stock 30       \$ Stock 30         9       STATE CONSTRUCTION FEELES SUBTORIE       IF       1000       \$ Stock 30       \$ Stock 30         9       FEEND CONSTRUCTION SUBJECT SUBJECT ONLY AS DIRECTED DY THE ENNERGE CONVELETE N PLACE       \$ SY       6 4 36       \$ \$ 50 200       \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$				4) CE BARKE	R LTD.	
Direction by The Envincency Confliction PLACE       EA       3       \$100,00         2 ADJIEST MANNICUE BIN IAS DIRECTED BY ENGINEERS, CONFLICTION PLACE, TO BE LISED ONLY AS DIRECTED U       IF       100       \$40,00         5 ENTRA GRANCE CONSTRUCTION FLACE, TO BE LISED ONLY AS DIRECTED U       IF       1000       \$40,00       \$40,000         9 BY THE ENVINCEER, COMPLETE IN PLACE       IF       1000       \$40,00       \$40,000         9 BY THE ENVIRCENCY, COMPLETE IN PLACE       IF       1000       \$10,000       \$30,000,00         10 WET SAND CONSTRUCTION AS PREPTARS AND DEPTH, IT 08 EUSED ONLY AS DIRECTED       IF       1000       \$30,000,00         10 WET SAND CONSTRUCTION AS PREPTARS AND DEPTH, IT 08 EUSED ONLY AS DIRECTED       IF       1000       \$30,000,00         10 WET SAND CONSTRUCTION AS PREPTARS AND DEPTH, IT 08 EUSED ONLY AS DIRECTED       IF       1000       \$30,000,00         10 WET SAND CONSTRUCTION AS PREPTARS AND DEPTH, IT 08 EUSED ONLY AS DIRECTED       IF       2733       \$46,00       \$40,000         2 7 REINFORCE CONSTRUCTION AS PREPTARS AND DEPTH, IT 08 EUSED ONLY AS DIRECTED       IF       2733       \$46,00       \$40,000       \$40,000       \$40,000       \$40,000       \$40,000       \$40,000       \$40,000       \$40,000       \$40,000       \$40,000,00       \$40,000,00       \$40,000,00       \$40,000,00       \$4	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
b EXTRA ORANGE CONSTRUCTION FENCE, (TO BE USED ONLY AS DIRECTED BY LF       100       34.00       5400.00         b BWX TERNS, COMPLETE IN PLACE       LF       1000       \$40.00       340.000.00         b BWX TERNS, COMPLETE IN PLACE       LF       1000       \$40.00       340.000.00         b BWX TERNS, COMPLETE IN PLACE       LF       1000       \$40.00       340.000.00         b BWX TERNS, COMPLETE IN PLACE       LF       1000       \$40.00       \$40.000.00         b BWX TERNS, COMPLETE IN PLACE       LF       1000       \$40.00       \$40.000.00         b BWX TERNS, COMPLETEN SUBTOTAL:       S76,664.00       \$30,477.00       \$30,477.00         b P REINFORCED CONCRETE PAVENENT, COMPLETE IN PLACE       SY       B485       \$52.00       \$33,477.00         c REINFORCED CONCRETE PAVENENT, COMPLETE IN PLACE       SY       B485       \$52.00       \$30,477.00         c REINFORCED CONCRETE PAVENENT, COMPLETE IN PLACE       SY       B485       \$32.000       \$30,870.00         c REINFORCED CONCRETE PAVENENT, COMPLETE IN PLACE       SY       10500       \$500.000       \$500.000         c REINFORCED CONCRETE PAVENENT, COMPLETE IN PLACE       SY       10500       \$500.000       \$500.000         c REINFORCED CONCRETE PAVENENT, COMPLETE IN PLACE       SY       10000.00 </td <td></td> <td>CY</td> <td>10</td> <td>\$30.00</td> <td>\$300.00</td> <td></td>		CY	10	\$30.00	\$300.00	
THE EVANCEEND, COMPLETE IN PLACE       LF       1000       \$40.00       \$40,000.00         WET SAND CONSTRUCTION ASPER DETAILS AND RECOMMENDED BY DIRECTED BY THE ENGINEERD, COMPLETE IN PLACE       LF       1000       \$10.000.00         UNESSELLANEOUS THESS SUBTOTAL:       FERMIONICED CONSTRUCTION ASPER DETAILS AND RECOMMENDED BY DIRECTED BY THE ENGINEERD, COMPLETE IN PLACE       Y       \$1000       \$10.000.00         UNESSELLANEOUS THESS SUBTOTAL:       FERMIONICED CONCRETE PAVEMENT, COMPLETE IN PLACE       Y       \$233       \$533.4772.00         2       7 REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE       Y       \$233       \$530.00       \$534.672.00         2       7 REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE       Y       \$230       \$530.00       \$538.670.00         3       # LIMER, Y ASH STABILIZED SUBGRADE MANIFULATION, COMPLETE IN PLACE       Y       \$200       \$50.00       \$50.000.00         3       # LIMER, Y ASH STABILIZED SUBGRADE MERINATION, COMPLETE IN PLACE       Y       \$200       \$50.000.00       \$50.000.00         4       TRUCH ASH STABILIZED SUBGRADE MERINATION, COMPLETE IN PLACE       Y       \$200       \$50.000.00       \$50.000.00       \$50.000.00       \$50.000.00       \$50.000.00       \$50.000.00       \$50.000.00       \$50.000.00       \$50.000.00       \$50.000.00       \$50.000.00       \$50.000.00 <t< td=""><td>7 ADJUST MANHOLE RIM (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE</td><td>EA</td><td>3</td><td>\$100.00</td><td>\$300.00</td><td></td></t<>	7 ADJUST MANHOLE RIM (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	3	\$100.00	\$300.00	
BY THE ENGINEERIN, COMPLETE IN PLACE         BY WET SAND CONTRUCTION AND REPORTANCE AND REPORTING TO BE USED ONLY AS DIRECTED BY THE ENGINEERIN, COMPLETE IN PLACE       F       1000       \$10.000         DIVISION - MISCILLANEOUS TERMS SUBTOTAL:       575,644.00         DIVISION - MISCILLANEOUS TERMS SUBTOTAL:       575,644.00         2 7 REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE       SY       6430       582.00       5834.672.00         2 7 REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE       SY       2733       586.00       587.72.00         3 0" LINEFLY ASH STABLIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE       SY       2733       584.800.00         1 0" SELLANEON CONCRETE PAVEMENT, COMPLETE IN PLACE       SY       1000       584.800.00         1 0" SELLANE MARTINA STABLIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE       SY       10000.00       584.800.00         1 00 LISSLY ASH STABLIZED SUBGRADE MERANANTING, STOOPHANE STREPPINGS, VIVITH MANIMAN SULEDINS STREPORTINGS, STOOPHANE STREPPINGS, VIVITH MANIMAN SULEDINS STREPPINGS, STOOPHANE STREPPINGS, VIVITH MANIMAN SULEDINS STREPPINGS, STOOPHANE STREPPINGS, VIVITH MANIMAN SULETS, AND REAPPLICATION OF STREPPINGS, VIVITH MANIMAN SULETS, STREEDTING, MARGES, REFLECTIVE PAVIT SULTONS, VIVITH MANIMAN SULETS, STREPPINGS, STOOPHANE STREPPINGS, VIVITH MANIMAN SULETS, STREPPINGS, STOOPHANE STREPPINGS, VIVITH MANIMAN SULETS, STREPPING, MANIESS, STREPPINGS, VIVITH MANIMAN SULETS, AND REAPPILATION OF STREPPINGS, COMPLETE IN PLACE       150.000.00       500.000.00       100.000.00		LF	100	\$4.00	\$400.00	
Benderchen Vol. Envinement, and Linke Substant       5000000000000000000000000000000000000		LF	1000	\$40.00	\$40,000.00	
Data Service Concrete PAVEMENT, COMPLETE IN PLACE       SY       6436       \$52.00       \$534.672.00         2       7 REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE       SY       2733       \$65.00       \$177.645.00         3       6* LIMEFLY ASH MIXTURE FOR 6* STABLIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE       SY       2733       \$65.00       \$34.752.00         4       1058/SY, AS REQUIRED BY SOLIC CONTINUES AND APPROVED BY       SY       10584       \$80.00       \$34.800.00         5       ELBISSY, AS REQUIRED BY SOLIC CONTINUES AND APPROVED BY       SY       12174       \$500       \$80.800.00         6       EDISSY AS REQUIRED BY SOLIC CONTINUES STIPPINOS, SON-LINENS, REIPINOS, SON-LINENS, STIPPINOS, CONTENTION TO BENNOS, STIPPINOS, CONTENTION STEPINOS, SON-LINENS, STIPPINOS, CONTENTION TO BENNOS, STIPPINOS, CONTENTION TO LINENTON TO BENNOS, STIPPINOS, CONTENTION TO BENNOS, STIPPINOS, CONTENTI	GEOTECHNICAL ENGINEER, ALL LINE SIZES AND DEPTH, (TO BE USED ONLY AS	LF	1000	\$10.00	\$10,000.00	
16 "REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACESY6438652.005334.072.0037 "REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACESY2733565.005177.645.0038 "LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACESY1059458.00584.752.004TRUBUN LIME/FLY ASH STABILIZED SUBGRADE REPREPARATION SUBJESSY AND COMPLETE IN PLACETON2655320.00584.500.005ROADWAY EXCAVATION TO BUSED FOR FILTO FAIL GRADE WITHIN PLACEMENT ADD COMPACITO DE STRIPPINGS, COMPLETE IN PLACECY1217.4\$5.00\$60.870.006PREMANENT TRAFFIC CONTROL BUSED FOR FILTO FAIL GRADE WITHIN PLACEMENT STRIPPING, STOCKPLING STRIPPINGS, COMPLETE IN PLACECY\$10.000.00\$10.000.007CONTROL DEVICES, INCLUBES ALL TRAFFIC BUTTONS, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACELF\$10.002.00\$10.000.008PREIMANENT TRAFFIC CONTROL PAVID MORES, COMPLETE IN PLACELF\$10.002.00\$50.000.009VELVERMENT STRIPPING, CONTROLET ON COMPLETE IN PLACELF\$10.002.00\$50.000.009VELVERMENT STRIPPING, CONTROLET NO COMPLETE IN PLACELF\$280\$3.15\$10.042.2010INSTALL MANITAN AND REPROVE CONCRETE TRUCK WASHOUT AREAEA1\$50.000.00\$300.00011REINFORCED CONCRETE CURB, COMPLETE IN PLACELF\$280\$50.000\$50.00012IY PE III BARRICADE, COMPLETE IN PLACELF\$280.00\$50.000\$50.00014NSTALL MANITAN AND READER/COMPLETE IN	DIVISION IV - MISCELLANEOUS ITEMS SUBTOTAL:				\$76,664.00	
2       7 PREINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE       SY       2733       \$65.00       \$177.045.00         3       6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE       SY       10694       \$8.00       \$184,757.00         4       TRUBLIN LIME/FLY ASH MINTURE FOR STABILIZED SUBGRADE PREPARATION, DISSIN, AS REQUIRED BY SOLUCIONOTIONS AND APPROVED BY CONTONIONS AND APPROVED BY CONTRACTOR DEPROVED BY CONTRACTOR DEPROVED BY CONTRACTOR DEPROVED BY CONTRACTOR AND APPROVED BY CONTRACTOR APPROVED BY CONCRETE BY PLACE       LS       1       S10.000.00       \$5.000.00       \$5.000.00       \$5.000.00       \$5.000.00       \$5.000.00       \$5.000.00       \$5.000.00       \$5.000.00       \$5.000.00       \$5.000.0	DIVISION V - PAVING ITEMS					
9 °L LINE/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE       SY       10594       \$8.00       \$84,762.00         4 TRU-BLN LIME/FLY ASH MIXTURE FOR °STABILIZED SUBGRADE PREPARATION, TON       265       \$320.00       \$84,800.00         9 CLIBSIGY, AS RECUIRED BY SOIL CONDITIONS AND APPROVED BY       CONDITIONS AND APPROVED BY       \$500,000       \$84,800.00         5 ROADWAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN MAXIMUM FULTS, INCLUDOR STIPPINGS, COMPLETE IN PLACE       CY       \$12174       \$500,000         6 PERMANNT TRAFFIC CONFOCID LEVICES, INCLUDES ALL TRAFFIC BUTTONS, STIPPINGS, COMPLETE IN PLACE       S10,000.00       \$10,000.00         7 CONTRACTOR TO PROVIDE MONTGOMERY COUNTY PAVING BOND IN THE AND MOSES, STREET SINGUES, STECC. COMPLETE IN PLACE       LF       3188       \$315       \$10,042.20         9 * REINFORCED CONCRETE CURB, COMPLETE IN PLACE       LF       3188       \$315       \$10,042.20         9 * Y 12' FEINFORCED CONCRETE CURB, COMPLETE IN PLACE       LF       3188       \$316       \$10,042.20         10 INSTALL MAINTAIN, AND REMOVE CONCRETE THURACE       LF       3188       \$316.00       \$300.00         11 REINFORCED CONCRETE CURB, COMPLETE IN PLACE       LF       288       \$50.00       \$300.00         12 TYPE IN BARRICADE, COMPLETE IN PLACE       LF       288       \$50.00       \$500.00         13 REINFORCED	1 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	6436	\$52.00	\$334,672.00	
4       TRUBLIN LIMEFELY ASH MIXTURE FOR 6° STABILIZED SUBGRADE PREPARATION, TON 265       \$320.00       \$84,800.00         5       BOADWAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN FORCE TO MILTER IN PLACE       CY       12174       \$5.00       \$80,870.00         5       ROADWAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN FORCE TO MILTER IN PLACE       CY       12174       \$5.00       \$80,870.00         6       PERMANENT TRAFFIC CONTROLOTION 59 STRIPPINGS, COMPLETE IN PLACE       CY       12174       \$5.00       \$80,870.00         7       PAREMENT STRIPING, MARCENS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SOUTROLO DEVICES, INCLUDES ALL TRAFFIC BUTTONS, COMPLETE IN PLACE       LS       1       \$10,000.00         7       CONTRACTOR TO POVE MONTGOMERY COUNTY PAINTED MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, TRUE OUNTY PAINTED MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, TRUE OUNTY PAINTED MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, TRUE OUNTY PAINTED MONTGOMERY COUNTY PAINTED MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, TRUE OUNTY PAINTED MEDIAN NOSES, STREET SIGNS, TRUE OUNTY PAINTED MEDIAN NOSES, STREET SIGNS, TRUE OUNTY PAINTED MONTGOMERY COUNTY PAINTED MEDIAN NOSES, STREET SIGNS, TRUE OUNTY PAINTED MONTGOMERY COUNTY PAINTED MEDIAN NOSES, STREET SIGNS, TRUE OUNTY PAINTED MONTGOMERY COUNTY PAINTED MEDIAN NOSES, STREET SIGNS, TRUE OUNTY PAINTED MONTGOMERY COUNTY PAINTED BOND IN THE LS       1         8       6* REINFORCED CONCRETE CURB, COMPLETE IN PLACE       LF       28       \$50.00       \$300.00        11 <t< td=""><td>2 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE</td><td>SY</td><td>2733</td><td>\$65.00</td><td>\$177,645.00</td><td></td></t<>	2 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	2733	\$65.00	\$177,645.00	
S0 LESISY, AS REQUIRED BY SOLL CONDITIONS AND APPROVED BY GEOTECHNALE LANGUREER, COMPLETE IN PLACE       V       12174       \$5.00       \$60,870.00         PACEMENT AND COMPLETE IN PLACE       V       12174       \$5.00       \$60,870.00         *       PACEMENT AND COMPLETE IN PLACE       S       \$10,000.00         *       PACEMENT AND COMPLETE IN PLACE       \$10,000.00         *       PACEMENT STRIPPING, STOCKPILING STRIPPINGS, COMPLETE IN PLACE       \$10,000.00         *       PACEMENT STRIPPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STRIET SIGNA, TRAFFIC SIGNA, ETC., COMPLETE IN PLACE       \$10,000.00         *       CONTRACTO TO POVIDE MONTCOMERY COUNTY PAVING BOND IN THE LS       \$1       \$10,000.00         *       ** T2* REINFORCED CONCRETE CURB, COMPLETE IN PLACE       \$5,000.00       \$5,000.00         ** A 12* REINFORCED CONCRETE CURB, COMPLETE IN PLACE       \$1       \$5,000.00       \$5,000.00         ** 11* REINFORCED CONCRETE CURB, COMPLETE IN PLACE       \$1       \$2,000.00       \$3,00.00         10       INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE       \$2       \$3,15       \$1,040.20         11       REINFORCED CONCRETE FAVING HEADER, COMPLETE IN PLACE       \$2       \$5,000.00       \$300.00         11       REINFORCED CONCRETE FAVING HEADER, COMPLETE IN PLACE       \$500.00	3 6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	10594	\$8.00	\$84,752.00	
PROJECT LIMITS, INCLUDING STRIPPINGS, STOCKPLING STRIPPINGS,       STREPHAGE         PLACEMENT TAR DCOMPACTION TO 95% STANDARD PROSCTOR DENSITY, WITH       \$10,000.00         STREPT SIGNS, TARFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS,       LS       1       \$10,000.00         PAVEMENT TRAFFIC MARKERS, REFLECTIVE PAINT ON WEDIANNOSES,       STREPT SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE       1       \$5,000.00         7       CONTRACTOR TO POVOUE MONTGOMERY COUNTY PAVING BOND IN THE       LS       1       \$5,000.00         8       6* REINFORCED CONCRETE CURB, COMPLETE IN PLACE       LF       318       \$31.5       \$10,042.20         9       4* X 12* REINFORCED CONCRETE CURB, COMPLETE IN PLACE       LF       2282       \$3.15       \$7,188.30         10       INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA,       EA       1       \$300.00         11       REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE       LF       28       \$50.00       \$140.000         10       INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA,       EA       1       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00       \$300.00	50 LBS/SY, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY	TON	265	\$320.00	\$84,800.00	
PAYEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE       I       \$5,000.00         7       CONTRACTOR TO PROVIDE MONTGOMERY COUNTY PAVING BOND IN THE ALS       I       \$5,000.00         8       6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE       LF       3188       \$3.15       \$10.042.20         9       4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE       LF       2282       \$3.15       \$7,188.30         10       INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE       LF       2282       \$3.00.00         11       REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE       LF       28       \$300.00         12       TYPE III BARRICADE, COMPLETE IN PLACE       LF       28       \$500.00         SUBTOTAL         SUBTOTAL DIVISION I - DRAINAGE FACILITIES ITEMS         SUBTOTAL DIVISION II - DRAINAGE FACILITIES ITEMS         SUBTOTAL DIVISION II - DRAINAGE FACILITIES ITEMS         SUBTOTAL DIVISION II - DRAINAGE FACILITIES ITEMS       \$533744.34         SUBTOTAL DIVISION II - DRAINAGE FACILITIES ITEMS       \$192,344.52         SUBTOTAL DIVISION II - SANITARY SEWER ITEMS       \$3387,476.53         SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS       \$76,664.00 <td>PROJECT LIMITS, INCLUDING STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH</td> <td>CY</td> <td>12174</td> <td>\$5.00</td> <td>\$60,870.00</td> <td></td>	PROJECT LIMITS, INCLUDING STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH	CY	12174	\$5.00	\$60,870.00	
AMOUNT OF \$204,416.36, COMPLETE IN PLACE       LF       3188       \$3.15       \$10,042.20         9       4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE       LF       2282       \$3.15       \$7,188.30         10       INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA. COMPLETE IN PLACE       EA       1       \$300.00         11       REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE       LF       2282       \$3.15       \$7,188.30         12       INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA. COMPLETE IN PLACE       EA       1       \$300.00         11       REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE       LF       28       \$50.00       \$1,400.00         12       TYPE III BARRICADE, COMPLETE IN PLACE       EA       1       \$500.00       \$500.00         DINISION V - PAVING ITEMS SUBTOTAL:       TYPE III BARRICADE, COMPLETE IN PLACE       EA       1       \$500.00         SUBTOTAL DIVISION I - DRAINAGE FACILITIES ITEMS       TYPE III SUBMARY       \$553,744.34       \$500.00         SUBTOTAL DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS       \$192,344.52       \$387,476.53         SUBTOTAL DIVISION II - SANITARY SEWER ITEMS       \$387,476.53       \$387,476.53         SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS       \$76,664.00       \$76,664.00 <td>PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES,</td> <td>LS</td> <td>1</td> <td>\$10,000.00</td> <td>\$10,000.00</td> <td></td>	PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES,	LS	1	\$10,000.00	\$10,000.00	
94" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACELF2282\$3.15\$7,188.3010INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACEEA1\$300.00\$300.0011REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACELF28\$50.00\$1,400.0012TYPE III BARRICADE, COMPLETE IN PLACEEA1\$500.00\$500.0012TYPE III BARRICADE, COMPLETE IN PLACEEA1\$500.00\$500.00SUBTOTAL:SUBTOTAL:***********************************		LS	1	\$5,000.00	\$5,000.00	
10INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACEEA1\$300.00\$300.0011REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACELF28\$50.00\$1,400.0012TYPE III BARRICADE, COMPLETE IN PLACEEA1\$500.00\$500.0012TYPE III BARRICADE, COMPLETE IN PLACEEA1\$500.00\$500.00SUBTOTAL:***********************************	8 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3188	\$3.15	\$10,042.20	
COMPLÈTE IN PLACE       LF       28       \$50.00       \$1,400.00         12       TYPE III BARRICADE, COMPLETE IN PLACE       EA       1       \$500.00       \$500.00         12       TYPE III BARRICADE, COMPLETE IN PLACE       EA       1       \$500.00       \$500.00         12       TYPE III BARRICADE, COMPLETE IN PLACE       EA       1       \$500.00       \$500.00         DIVISION V - PAVING ITEMS SUBTOTAL:	9 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2282	\$3.15	\$7,188.30	
12 TYPE III BARRICADE, COMPLETE IN PLACEEA1\$500.0012 TYPE III BARRICADE, COMPLETE IN PLACEEA1\$500.00500 DIVISION V - PAVING ITEMS SUBTOTAL:5777,169.50BIDDING SUMMARYSUBTOTAL DIVISION I - DRAINAGE FACILITIES ITEMS\$553,744.34SUBTOTAL DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS\$192,344.52SUBTOTAL DIVISION III - SANITARY SEWER ITEMS\$387,476.53SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS\$76,664.00		EA	1	\$300.00	\$300.00	
Division V - PAVING ITEMS SUBTOTAL:\$777,169.50BIDDING SUMMARYSUBTOTAL DIVISION I - DRAINAGE FACILITIES ITEMS\$553,744.34SUBTOTAL DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS\$192,344.52SUBTOTAL DIVISION III - SANITARY SEWER ITEMS\$387,476.53SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS\$76,664.00	11 REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	28	\$50.00	\$1,400.00	
Division V - PAVING ITEMS SUBTOTAL:\$777,169.50BIDDING SUMMARYSUBTOTAL DIVISION I - DRAINAGE FACILITIES ITEMS\$553,744.34SUBTOTAL DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS\$192,344.52SUBTOTAL DIVISION III - SANITARY SEWER ITEMS\$387,476.53SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS\$76,664.00	12 TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	
SUBTOTAL DIVISION I - DRAINAGE FACILITIES ITEMS\$553,744.34SUBTOTAL DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS\$192,344.52SUBTOTAL DIVISION III - SANITARY SEWER ITEMS\$387,476.53SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS\$76,664.00	DIVISION V - PAVING ITEMS SUBTOTAL:					
SUBTOTAL DIVISION I - DRAINAGE FACILITIES ITEMS\$553,744.34SUBTOTAL DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS\$192,344.52SUBTOTAL DIVISION III - SANITARY SEWER ITEMS\$387,476.53SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS\$76,664.00						
SUBTOTAL DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS\$192,344.52SUBTOTAL DIVISION III - SANITARY SEWER ITEMS\$387,476.53SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS\$76,664.00					\$553 744 34	
SUBTOTAL DIVISION III - SANITARY SEWER ITEMS\$387,476.53SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS\$76,664.00						
SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS \$76,664.00						
	SUBTOTAL DIVISION V - PAVING ITEMS				\$777,169.50	
	TOTAL AMOUNT BASE BID					